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The calligraphy of the § in
Constitution was done

(A) Rammanohar Sipp, ) _
() Usha Nath FSt‘:n 30
C) Alladi Krishnasy, A pind
Eu} vasant Krishna Vaidya Yyar g
(F) Question not attempreq (1
Who is the Chief Exceyjjye head o Ly

i rlhe sla -
A) Governor \ 'F?
EC) District Magistrage ) Home MiBister

(E) Question not attempyey ) ChitFM_ipig_;cr

Who was the Educatjpp Minister : S

India (1947)? ISICT in the first cabinet of free
(A) V.N Gadgil

(B) Dr. John Matha;
(C) Maulana Abul Kgaj

am Az, ~ -
(D) Rafi Ahmad Kidyg; 72 it
(E) Question not attempted o~

Who was the Chairman of ine (0.

Indian Constitu:i:m ;\I;‘S*Tmbly];c Steering C_qrpm:ttc: of the
A) Dr. Rajendra Prusag ' ; - .

EC} Pt. Jawahar Lal Nehpy, {}[? f)]:”j;;%hir:{bins}"

(E) Question not attempted Bk dicar
Which Constitutional sl
fundamgﬂlal duties to th i oy the part of
(A) ﬁzm Constitutional Amendmen

(B) 78 Constitutional Amendment

(€) 34 Constitutiong| Amendmeny ~

(D) 42™ Constitutional Amendmen,

(E) Question not attempied o
Fundamental duties Were incorporated in'ﬂii:{Cnnstitutim
on the recommendation of:- (T
(A) Shah Commission Ll
(B) Santhanam Committee ;
(C) Administrative Reforms Commission >
(D) Swaran Singh Commitiee

[

(E} Question not attempted C\:\:
Which of the following peaks is not situated in the Andaman
and Nicobar region of India?

(A) Diavolo
(C) Koyob

(E} Question not attempted
Malabar Coast is situated in whi
India? (Choose the

(B) Mahendragiri
(D) Saddle o

t-_:- # -
ch of the following states of
most appropriate option from below)

(A) Maharashtra (B) Odisha |
(C) Kenala (D) Gujarat -~
(E) Question not attempted o

»
Which of the tollowing water bodies separates the Andaman
from the Nicobar? bl

(A) Gulf of Mannar

(B) Ten Degree Channel

(C) Twenty Degree Channel
(D) Eleventh Degree Channel i
(E) Question not attempted o

Where in Rajasthan is the ‘Kapil Muni’ fair held?
(A) Mandore in Jodhpur Wy
(B) Kolayat in Bikaner =
(C) Kalibangan in Hanumangarh —
(D) Sanganer in Jaipur (¥
(E) Question not attempted ~

“Terah Taalj Dance’ is a famous folk dance associated with

(A) Bheel Tribe (B) Gurjars
(C) Kamad Caste (D) Garasiya Tribe

(E) Question not attempted
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_'Ihis basis, U.p.’s hilly areas
tdeal place for setting up
One, as many as 56 sites have
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H ﬁcw n:;:d emerging field. ((ﬁlﬁl’-‘:"::e“ﬁ?(:??pamu‘t:lty
option from below) oo Approprisie
(A) Probably false
(C) Definitely fulsc
(E) Question not attempied

22 Wind is a source of energy,
sources of encrgy. (Choose
from below)

(A) Definitely truc
(©) Definitcly false
(E) Question not attempted

23 The survey was conducted by the Guv;:r;};wm of UP.
(Choose the most appropriate option from below)
(A) Probably falsc (B) Dcfinitely true
(C) Definitely falsc (D) Probably true
(E) Question not attempted

(B) Definitely true
(D) Probably true
S

(W

which can Tt;:ll:léc exhaustible
the mast appropriale oplion

(B)  Probably trye
(D) Probably'faLgc

3

o
24 Pointing to 2 man, Rekha said, “He is the brother of the

1 A 7 M1 B T o Y Py T i daughter of the wife of my husband™, How is the man 32
(A) ufar ] =227 related to Rekha?
(©) et (D) T~ (A) Husband (B) Son
(B) et ool | e L off (©) Nephew (D) Cousin 0
G (E) Question not attempted o
25 fafafas st HLITF (o i

L

I. *ASB & ad2 A BHIaid &
I "A#B F3 A Bt y

M. ‘A@B #F:ad2 A Barefdy -

IV. ‘A% B Faid A phRIaad) (7
ffafaa § a w0 sifreafr et 2 e P, Qfraead
(A) Q%M@PSN* (B P%M@NSQ"*

(C) QSM@N#PX (D) PSM@N#Q -
ygrzgq ® AR g

-

w

P8

- af et %2 v § \DELHI" 1 ‘FIRPS' % %9 § gzag fra
.Eu‘?#% ST R, 41 3719 3¢t 2 AT H JAIPUR ¥ 3 Fzag w0
FTR S () HExoDE (B) HOBXDE~"
T 14O) LEXOED- AD) LEOXED -
(9 ) g LEOXE D

27 AR T am d Life(DUGUER #1525 pa’ 2
‘autildl flower” FFE ‘GHra’ 23R 'l'l;wcr%mj‘ =+

FT ‘gatana’ 2, ar “ife’ FIFL E1=1 ﬁﬁw 9
pa (B) ga k.
{C) na (D) ta

(E) gafEsy A
T o & 3 S 3 o 4 R o 4 i fem 2
3l gefi At € St 4 Rt 2 for 1 siw 1A wE o
aoft F1 firert TR 3T A F A F wwE B & Ay
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TS o ot i firer ¥ for fret 2ft @ wom ain ey
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dy the following information carefully.!*7
I. A S B means ‘A is the mother of BL1LT
II. ‘A # B’ means ‘A is the father of B". -
M. ‘A @ B’ means *A is the husband of B’
IV. *A % B’ means ‘A is the daughter of B'.
Vu;hich of the following expressions indicates P is the sister 39
of *7
(A) Q%M@PSN
(C) QSM@N#P
(E) Question not attempted

33

:./

-
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(B) P%M@NSQ

(D) PSM@N#Q

—w:l)

26 If*DELHI" is coded as *FIRPS’ in a certain code language, 35
than how will you code ‘JAIPUR' in the same code
language? .

(A) LEXODE (B) LOEXDE-
(C) LEXOED (D) LEOXED)
(E) Question not attempted '

-

27 Ina certain code, ‘sa ga pa’ is a code for *Lif¢ is beautiful’,
‘sata’ is a code for ‘beautiful flower’ and ‘ga ta na’ isacode 6
for *flower is red’, then which of the following is the code
for ‘life*?

(A) pa (B) ga
(C) na (D) ta .
(E) Question not attempted L
28 Rajesh went 1o a bank, which is 4km westwards from his

house. His wife went to the market, which is 4 km
southwards. £ Rajesh started towards the market to meet his
wife along the shortest route between the market and the t
bank, then how much distance will Rujeshlhnﬂw: to travel 0

E

~,

o o~

meet his wife and in which dircclion‘?
(A) 5 km, South-Tast (B) 5km,
= (C) 4 ./5 km, South-East (D) 1 ﬁ km, South-West
¢ (E) Question not attempted

North-East
|
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coVe T of

19 s frft o F e,
mﬂ’ﬁaﬁtz&mﬂmmﬂﬁtm 290  After walking for 5§ kms, 1 turned Mg l:
covered

g it 6 forey <y =)
/ L aq #n 3¢
oy o, 1 Il lﬁ R E R AR distance of 2 km, then turned left and Ah.
? Do ﬁ 6 km. In the end, | was mnving towl !-Flhc No

© T o (B) afemg 07 dircct{::ln did | start the journey?
Y (A) East (B) West,-
(E) gaftawx w (C) South (D) North o
(E) Question not attem, ed W ized !
p f__‘n;_h' argﬂj‘]lz

e 3 Freferfiaa ool

30 7 fyg =

=1 3mara fargm fram 3 vq 1 w2025 30 Which of the following bodies ©
«Bharat Rang Mahotsav-2025"7 (3 -

G wh (e (A) Sahitya Acad
(B - Sahitya Academy st
:c; mwmzw f:} EE} !::dinn ('m;_n-::il for Cultural Rtlﬂllﬂ/;"
HATey ') Ministry 0 Panchayati Raj
(D) 13 77 ey (D) National School of Drama
(E) L (E) Qucstion not attempted p ﬁ,‘ayﬂ“’fu
FATIT (AT > 31 Name the Chouhan ruler who founded the city © !
k] qMET ﬁ LT f ~
() TN e T AT T W AN (Ajmer). o
) e v o (A) Raja Vigrahraj IV Chouhan =
B T 37919 91t U (B) Raja Ajay Pal Chouhan s
(C) TSTETH fororr =iter w* wr (C) Raja Vakpatiraj Chouhan 15
(D) T SO e -~ (D) Raja Amoraj Chouhan o~
(E) ﬂaﬂf{agg— F_j s (E) Question not attempted —~ und the
i 32 Who among the following was the first 10 propP? Naga™
32 ngﬁﬂ?_ﬂm%m%%mm theory of the origin of thc Rajputs the
InRIEE] ATAT 9geT =fiE g ) Brahmins? D
(A) T ST AR ®) o zrerwt B James Todd  (B) Dr. Dashrait 5*5";;’;
(© ., firy s . JTTd (C) V.A. Smith (D) Dr.D.R. Bhan
® ST 5 JPr =L %"l.%ll_'f. s (E} Question not attempted i
. & 5 PA 33 The Mewar F:_"ajamand.al was f'oundcd_\lzy:-
Harg TS W1 Furaar farass ro iy o (A) Shri Harimohan Mathur o
(A) i eferes mTeg (B) =tz 7 (B) Shri Brijsunder Sharma ur
< ot wrrfoTag ot ant ®) (C) Shri Manikya Lal Verma Vg
L SRATCALE =SS (D) Shri Jamnalal Bajaj -
(E) a4 5 ) .
r'-: » (E) Question not attemnpted -_J 2
34w wEhs o U frarrisa mygE T e = srfreran ey | 34 A person who is not a member of the State legislature €31 be
mﬁmwﬂ@qﬂﬁﬁﬁmmﬁﬁ appointed as Chief Minister for a period of maximum:-
(A.) 4 m} V"fB’I’G qﬂef\j (A) 4 months (B) 6 mths
© 1 i (D) 2 sy (C) 1 year (D) 2 months
® - - (E) Question not attempted
35 Who among the following i flicio Chancellor of the
S ~A g owing is ex-officio
35 fofafaa § @ F6 v _famfieert .92 Fetuata State Universities? =
(e BT 87 - P (g) Education Minister o~
A e LE‘_;' (B) Govermor '
(A bl 0 (C) ChicfJustice of High Court s
- (D) Chief Minister U
::Ig; 33:113!1 W#g@'ﬂﬂmﬁﬂ ‘_.2/ (E) Question not attempted i
® 36 Who was the Chicf Secretary of Rajasth
(E) HIAf@wsd ov" E’ﬁ?s);hn o ;.Ijtjt an (as on Junc
26 T S s i A 9 7 (7 2025 IO s {B) Sty Snchiaish Fant
) il 5 o gt 9 (5 Ot Narayan (D) ShriK. Radhakrishnan
L9l uestion not attempted
(C) #h el FrrAm (D) AF TIF 37 The High Court of Rajasthan at Jodh o)
" at Jodhpurwas i
(E) mﬂﬂﬁﬂ o] o which of the following Rajpramukh” of “I.:‘:Es?md by
37 Sy § e I AR &1 3aT2 (29.08.1949 3 (22503;9:9 7 Bts AR
- a2 | e aharaja Sawai Man Singh "~
e *ﬁ?ﬂmﬂﬁ@ﬁ":’ feray Tt s i (B) Maharawa! Chandra Singh
e HATg 714 (B) WelTd) pol (C) Maharawal Laxman Singh 5 O
(€) wemEa@EmfiE (D) HERIT I (D) Maharaja Bhupal Singh -
(E) tgmfwwd o (E) Question not attempted (_"J
38 e e ar AT maﬁﬁgﬁﬁﬁ?@imﬁmh 38 11;; pl::én:an of the State Public Service Commiss;
A : —_— e appointed by: ~ on is
(A) Tl (B) (A) President (B) Parliamen
5 (D) FEEA 1
: (C) Governor (D) Chief Mini
£ (E) srafa wu T3 () Question not attempted S
CEF1] 2 5
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(C) Hanwanrqhmqpmmaﬂtz’lm
(E) rafa sy o
5
41 mﬁmmm'm'ﬂwmﬁﬂwﬂﬁ'”{
eff? -
(A) TFEUHE (D) ﬁmsﬁa.‘}f
() faferds e x LDy T e g

(E) Haf@ws LT
42 IAFARTR F 30 S0 o o et ofr sf Frdy g o

3 AT ¥+ ST ST = e
(A) v ag (B) Hoar

Tt arg (D) Muum -
(E) Irafta g )

43 ST USETH St i are i & Saw

(A) o oret aiar (B) naa fie
(C) Ffas mmea e/ 9,{%1:{:131:1 il
(E) ¥gafa g% o

Read the folIowing passage carefully apd"nmwer the
questions that follow: (Q. No. 44 t0 48) | ,+
PASSAGE et~
The road to success is not straight; there is a curve
called failure, a loop called confusion, speed bumps called
friends, caution lights called l;:;'i_]y and a roller coaster ride
called jobs. But, if you have a spare called determination, an
engine called perseverance, insurance called faith and a
driver called God, you will make it to a place called success!
In spite of all our planning and preparation, unexpected
challenges are certain to arise. The bumps in the road are
unavaidable, but you'll never get to your destination if you
aren’t willing to drive over them. The difference between a
disaster and triumph lies in whether or not you're prepared
and willing to weather the storm. If you're.ready, those
bumps will become stepping-stones. N
The key thing to realize is that working harder is the
samc as working smartcr. How do you work s:mnrtcr? You
Just need to have the right skills. People want improved
circumstances and better life without an -improved self,
They want victory without paying the price or making
cfforts. It really cannot happen without ‘the other. Any
improvements that have not been generated by improving
yourself arc superficial and short-lived. If you want to have
a betler future, you have to change yourself. Stop worrying
about the various challenges that will come your way. Just
believe in yourself and use them as slepping-stones.
‘Success’ is getting whatever you want oyt of life
without violating the rights of others. It is nof an accident
YHE Success is the result of our attitude and our attitude is ::;
) choice. Hence success is 2 matter of choice and not chance.
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remove the State Chief Information Comm; 1sio
ner

cian . . "
::\-:::c grmll'ltl of mishchaviour or incapacity Proved by the

me Court? i)
5‘,:: rrc(;uvcmm' (B) The Presidémn .
. prime Minister (D) Chief Minister Bty
:E; Question not attempted | o % rest
3 1 ass
Rajasthan gtate Human Rights Cnmrnissi_m-ig compriseq Eer
" - Or
D‘_,l;'} One Chairman and four members i3 but
(B Onc Chairman and six members  © 4 of
{C)) One Chairman and five members ™) .
ED) One Chairman and two members
(E) Question not attempted ext
: ‘ ~~ job
which lake was built by stopping a branch ory_\c local river, ‘:::r
sRuparel’? O
(A) Gadisar Lake (B) Lake Pichola .
(C) giliserh Lake (D) Bal Samand Lake 44 In
(F) Question not attempted s me
Name the poctess, dedicated to Krishna and also known as "’ig;
‘Meera of Wagad', 2 . ©
(A) Panna Dhai (B) Meera Bai,
(C) Gavari Bai (D) Gaura Dhaj ©
(E) Question not attempted (Ei
Who is the writer of the immortal Rajasthani, popular song 45 Ch
*dharti dhoran ri’? ;: ; e
A) Kanhaiya Lal Sethia  (B) Birbal Singh
{ ; ey Bu
C) Kaviraj Shyamal Das (D) Vijaydan'Detha .
() Y ¢ (A
(E) Question not atternpted L (B)
Read the following passage carefully and answer the '

questions that follow: (Q. No. 44 to 48) E:_,— (C!
PASSAGE = ./’?;

The road to success is not straight; there is a curve
called failure, a loop called confusion, speed bumps called 46  Ch

friends, caution lights called family and a roller coaster ride ser
called jobs. But, if you have a spare called determination, an Dif
enginc called perseverance, insurance called faith and a (A]
driver called God, you will make it to a place called success' (B)

In spite ofall our planning and preparation, unexpected
challenges are certain 1o arise. The bumps in the road are ,  (C
unavoidable, but you'll never get to your destination if you (D;
aren’t willing to drive over them. The difference between a (E)
disaster and triumph lies in whether or not you're prepared 7w
and willing to weather the storm. If you're.ready, those (A)
bumps will become stepping-stones. 5

The key thing to realize is that working harder is the "‘Eg:
same as working smarter. How do you work smarter? You
just need to have the right skills. Pcople want improved (D)
circumstances and better life without an.improved self
They want victory without paying the price or making ©
efforts. It rcally cannot happcn without the other. .'\-.ﬂ}
improvements that have not been generated by improving 8 Wh
yourself arc superficial and short-lived. If you want o have — des,
a better future, you have to change yourself. Stop worryies pas:
about the various challenges that will come your way. Just  (A)
believe in yourself and use them as stepping-stones. 'fc (B)

‘Success’ is getting whatever you want out of i l(rg;

i . " . 1dent
without violating the rights of others. It is not :m.acc:d_u‘ gk (D
Success is the result of our attitude and our attitude 13 (E)

. shanct I
choice. Hence success is a matter of chaice and not chanc® "IN ]
1 Cantd..
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Today success itive
nt:infdr: to life, A :d’:m?:"“ u holistic and positive Today success represents a holistic and f"‘::lt:..ui
restricted to some king qf bri"-‘.‘"t‘r}’lhing.k Success .i‘ not attitude to life. Attitude is everything 5 :n ‘1. It
e the Individualiry of g ok and mckiar premiscs, It restricted 10 some kind of brick and momaf e ed with
pcrf:cl-‘htﬂl; material achieyem complete nct uu:cut.cd with assumes the individuality of a comp!cié' nct ':’rcuﬁfe- we
don’t remember sports g, fmt" da notidefine life. We perfection; material achievements do ot define endo™™€
but the spmit ﬂfﬂchic‘-mtm “:"r the products they endorse don’t remember sports stars for the products ' bund'-l"ce
of a P_ﬂ!ﬂtn‘-'c attitude 'l-lndg-ﬂ'l.y mmzin!. The abundance but the spirit of achievement they rcfﬂ'ﬂ‘"t‘ Thed fal 1y
rf\.t':].l;gll'lg rich life. ine the grandeur of a truly of o positive attitude underline the~grandevs ©

Success can be g, o ) rewarding rich life i the
f;mal and the immu?éﬁfJT“ l\\iu standpoints- the Success can be measurcd !‘rorﬁ"_l"";;" smﬂdwlzwof’
jobwell done, and recognition, | ally. 15’.1?“: mcasure of a external and the internal. Externally. it M cclin® of
achievement and wholencss ;' _“tcrnn!!y. it is the feeling of job well done, and recognition. Internally, it is the jetion o
a task, or the fulfilment of . erived from the completion of achievement and wholeness derived from the comp

of desire. > a task, or the fulfilment of desire.
44 In 'l!lc passage, the plll’il.s.c “willi ﬁ,r‘ . 'n the S‘D‘I‘ﬂ"--
meansi- (Choose the mogy 4 ng to }If't.t_i}lhcr the storm” | 44 In the passage, the phrase *willing }9-}'"_-'«111“1‘ mbc“’“‘)
V(A‘I/Wi"in 2 10 face o dealflsfﬁ;jnﬁatc nrt‘lpn fmm bel?w) means:- (Choose the most apprnpria:pf‘_'[""'_‘m sruation-
() Willing 1550 for s b itha very difficult siruarion. (A) Willing to face or deal with a very g.fﬁcu’il r
(© Rea dincss 16 make age ctcuastcr ndﬁ.‘ i . {B) Willing to go for a roller cuastcr_:idfc- deal with
Ry quate &rrungcm;nts to deal with (C) Readiness te make adequate annngfﬂm“ 10
Being able . o a stormy weather. et
g Question m:?;t:emf;" stormy Weath (D) Being able to step out in stormy-weather:

(E)} Question not attempted

h : : jven
45 Choose the most appropriate option to complete the given | 45  Choose the most ppropriate option (o complete the &'

sentence. . 0 e
Bumps hc stepping stones when " | Bumps bccume stepping stones whemy”
f;) ::: ;::'nz::l:c to ?ﬂdg!: 'thcm. Uy (A) one isable to dodge them. Uy
EC; = ar(:ha ternative route. g (B) one finds an altcrnative route. | ;5"
Ipprodoucs 'hﬂ_ authorities to lt:v,c.;l them. (C) one approaches the authorities l.'o_l_cvcl them.
/(_D)’cmc ’ﬁ""“"'“g to drive over them. — (D) one is willing to drive over themi
(E) Question not attempted C:/_ (E) Question not attempted '
46 Choose the most appropriate option to complete the given | 46 Choose the most appropriate option 10'complete the given
scntence. sentence.
Difference between disaster and triumph lies in . Difference between disaster and triumph lies in .
(A) facing the disaster collcctively. (A) facing the disaster collectively. ~
(B) taking somec more time to analyze the risk in tackling (B) taking some more time to analyze the risk in tackling
the disaster. O ;, the disaster. “—::
L,(E)/Willingncss to endure and overcomc the situation. (C) willingness ta endure and overcom the situation.
{D) sulking a littlc but moving fnnvard;;{_ (D) sulking a littie but moving forwatd.
(E) Question not attempted o) (E} Question not attempted e
47 Which of the followiny attributes does not define success? | 47  Which c.;t'thc following, almhutc.s. do'?\ not define success?
(A) Itis the outcome of our attitude. al (A) Itis the outcome of our attitude.”
_BY"Success is a matter of chance. N (B) Success is a matter of chance. ")
(C) Success means having a holistic and positive attitude (C) Success means having a holistic and positive attitude
towards life 0 towards life. D
(D) Those aspiring for success do not yiolate the rights of (D) L‘;ﬁ: aspiring for success do not violate the rights of
others. - wr : W
& : v E) Question not attempted ,,
(E) Question not attempted W (E) Questic p LI
: i Which ofthe following sentences-m .
13 Which of (he following sentences most appropriately | 48 FFHe O e ot o vy “PPIOpriately,
deser: cendorse’ that has-been used in the describes the word ‘endorse’ that has-been used jp
escribes the word “cndoree V- passage? i the
passage? . th mpmf“‘” (A) To mention the tcam they rfprt;cm_
Eg: F’ meution th:,;::ngpocn)_'s achicvers. ) (B) To encourage otl.'u-::r spc::ns achievers.
(C . cnccruragf;r :ally with one’s name. (C) To support officially with one’s name.
@ ) “Tesupport oflict ).f[. #53% (D) To usc in personal life.
¥, (D) Touse in personal IUE @t (E) Question not attempted
(E) Question not attempted -

CEF1] 3 [ Contq,,


https://applink.adda247.com/d/XhqWf9lSap

Adda

®

E

4|

Frafafar Jwr o o —
TTuTt 97 20 T Wit 3 gee #, (war ewtes 49 7 51)

=3 3t mT%ﬁnrﬁ'qﬁqa; wmﬂnﬁ{ﬂ“ﬁﬂ {F‘Tﬂ
mtﬁmﬁﬁﬁlﬁzammggt; O )
Input: History 30 Maths 10 Chemistry 120 40 Sanskrit
Econontics 50 (7

| 1:_10 History 30 Maths 20 40 Sanskrit Economics 50
Chemisiry (

T 2: 10 20 History 30 Maths 40 Sanskeit §0 Chemistry
Lconomics )

9w 3: 10 20 30 Maths 40 Sanskrit 50 Chemistry
Economics Flistory

B

=

ST 4: 10 20 30 40 Sanskrit 50 Chemistry Economics
History Maths o
TS 10 20 30 40 50 Chemistry Economics History
—Maths Sanskrit — - [:q y
T s TR A sifm ey 1T -

e 3 HEIH w7 O 0 A fear e 3 3w
ST T Bt 3 srpam, gwds s rows) w7 g A
Input: 55 11 Geeta Babloo Radha 33 Omesh 22 44 Pinky
Frerferfere 3 & i rorc 2 2 &
(A) 112255 Radha 33 44 Babloo Pinky Geets-Omesh-
LABT 1122 55 Radha 33 Omesh 44 Pinky Babloo Geeta
(C) 422733 Radha 55 44 Pinky Babloo Ge¢ta Omesh
(D) H-22-33-55-Radha 44 Pinky Babloo Géeta Omesh

() ¥qafEas wr

49

50 w14 % 33 3T Babloo -%#raﬁﬁa#qq-_-:%;
(A = ® @
(€©) =® Py Y
(E) gaf@ws N

51 <93 § A B H * Radha * #1819 #2377

Any it | %1 =0
(C) @) i -

(E) Ffaf@war - s
52 A,B,C,D,E,F 3G U® g Tri 5t F2 4 o g@ w1
3 # B, C H it sitget wm w e &1 C, D ¥ =i st Ay
,:wmqraar%uaa%aﬂafnmﬁwmqﬁm%m,uﬁ
ITA F IS TR A, EF i sl e wazm d, S F

a’faﬂt:ﬁmmaﬂﬁat? V)
A G (B) D
(oA - (D) E 0
(E) arfafa gy e

53 wEsafEM, N, 0, P, Q, R 3 S I it sl a0k var wfiehh
Ta 43 (ot T Ryt wn A Eh) R siRSs F e i

G TFamﬁma S, N % a0 & 280 ©H WA ¥ P, 0 F amt @

A

E

e T gT AT 21 'S 3 N F 19§ Faer Q A9 3 N i
e 2 o gt A &1 At Preaferftrs § 3 #1796 & B i

T &2 &7 )
(A) S /tf)f |
(© P (D) M

« (E) arfaf@wa
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49

50

51

52
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study the following information carefully ang —
the questions based on it. (Q. No. 49 ¢4 51 Answer
A sct of words and numbers is pasceq throygh

g o

ment machine and the followig T
arrangem & fearmangemen; i
obtained: :

[nput: History 30 Maths 10 C}'ﬂ'ﬂi.'-lry'

Economics 50
Sil'.'P 1: In IliSlﬂl’y 3{] Maths 20 40 Sﬂnﬁk

Chemistry

20 40 Sanﬁkn']

Irit Ec ONomicy &y

Step 2: 10 20 istory 30 Maths 40 Sansksit 50 Chemie. 55
Economics ) B
Step 3: 1020 30 Maths 40 Sanskrit 50 Chemistry Economic,
History

Step 4 10 20 30 40 Sanskrit 50 Chemistry Economicy
History Maths A <6
Step 5: 1020 304050 Chcmistry E-C(]nﬂmjés History Mathe
Sanskrit s

Step § is the last step of the arrangement LL ¢

A set of words and numbers is given below, As per the rules
followed in the above sieps, answer the questions based on

it. o ¥

Input: 55 11 Geeta Babloo Radha 33 Omesh 22 44 Pinky
Which of the following is the Step 27

(A) 112255 Radha 33 44 Babloo Pinky Geeta Omesh

(B) 112255 Radha 33 Omesh 44 Pinky Babloo Geela

(C) 112233 Radha 55 44 Pinky Babloo Geeta Omesh

(D) 112233 55 Radha 44 Pinky Babloo Geeta Omesh

{E) Question not attempted wr —
How many clements/terms are there between "33 and
‘Babloo’ in the step 4? ~

(A) Two (B) One . 57
(C) Four (D) Three

(E) Question not attempted \)

What is the position of *‘Radha’ from the left end in the
step 37 ~A

(A) Fifth (B) Sixth Gt
(C) Fourth (D) Ninth

(E)} Question not attempted L

A, B,C, D, E, F and G are sitting around a circle, facing the 58
centre. B is second to the right of C. C is third to the right of
D. F is third to the right of G. G is not an immediat
neighbour of B. A is third to the left of E, then who is second

to the right of F? D
(A) G

(C) A

(E) Question not attempted

(8) D .-
(D) E " |

)

) ()

C 9
Seven persons M, N, O, P, Q, R and S are sitting in a straigh!
line (not necessanly in the same order) facing North. Onh
two persons are sitting between R and S. Sis sitting “Wm,‘

to the left of N, P is seated third to the leftof O. Only Qu

scated between S and N. N is seated at the extreme nght el @
of the row. Then who amongst the following 1S scaled f

exactly in the middle of the line? D (

(A) S (B) O ‘(

(© p (D) M ) (

1¥%: (E) Question not attempted ‘EF
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(O 2:"hmnﬁ E;;"E R rr?pmﬂ vt oy @ Al
c) 2 ‘amﬂ i L
pages HAR O S4 Nee
X frar wy 23 o7 Tu,::'?""* fifthina
55 mﬁmﬂzms by 24 (L) Eg and 5:,..“ sinth after ;‘z,:. Seema is e th from ne 185t
. qrrmn: lT:J' (A) 25'"“-|hcnhwr:c"“ and is in t:cm'ddl : chcl“ﬂ
()P . s o () 22 any students rc th iddic ' rass?
© {Iﬁﬂ}( WAt 200 (E (n e erc in the €%
b ”-]ﬁmm ) QUC;tj ) 23._,-“
€ ST wfmfmﬂgfmoq x| 58 108" Een on "m“"“mptcd”h 24T
5 AR (D) Xry ""'";C;_) on A1 ‘cbruary 200 Vi
e ya = W v B Februa S wa
fag M ] Hﬂag‘g:‘mq aff( 2095' A9 :2) S“ﬂda;ry 20037 s a Tuc“hy'. .:?1 what was he day
AT e e B
ﬁq Efl. m ﬁ%aﬁ o Ak W 1L L3 I 1om not atlem (DJ .rhl.lrsda
il Al P 8, o 9 3 n e llowin pred ey
: s e o P i : T e A oliehrec iy o question given be
o WP ﬂa-qqm* ik to take the th o conclusions ‘I° low arc three statemen®
c. -le 'ﬂ‘-ﬁﬂh ﬂid seem t ree given s ‘1" and _-_". Yo e ced
ﬁﬂ?S‘ T b - jud o be at varian ?ulcmmls 16 bc u are = ul
H ! . FQ{"'\ - | 1_E!i-'ﬂ'l-l::m Al ce with commonly kn truc €¥ if theY
]'FF-T'BI s E:S\;I ;glca“y follow ing which of thYkﬂuwﬂ facts. Mnkca
“.ﬁﬁqma slsrega_rﬂingcm':S} from the !hc glan CDﬂC'lusmn{s)
(A) Wﬁm:q ATH X% n"“"“mts; monly known rau;c.i.-"g“'m statements:
(B) Ee Il S3geo . AllPareQ ol
1 ¢ c. ;
'/gd ?i’rr:,n?j ;HWEE? & By Some SR b, SomeQarcS
Facl 11 L : U B
E) @ 1 rgen o b L Some fare T
q FAT Some :
57 A= k] t (A) Onl Q are definitel
fog g vt o e (B) Bot]?: conclusion 11 f:lT‘ e
a. AT r o ﬁthﬁ {C;l Nei I and I] foll lows O/‘
= b ¥ (D) Onlyc or 11 follows ¥
[ ﬁ-u-h- - WL“\/— {E’] o .Onc]USiDn £ o
:ﬁ%ﬁt{ d m\-) uestion not at 0"-0’“"5 [}v,l
o faredt 7 & et Y the e T
ot Arrange
© :‘:. c.ca : ﬂﬂi; c' b ceq a. F%unishn‘:'ﬂrds given below i -
© .b,e,a,d" (B} b,d,c,& . c. Judge ent : in a Fcdningful
aﬁaﬂﬁﬂ (D <2 a e. J . Police sequence.
s I ’.'I ) d.be ¢ a C udgement d. Cr o
fo g vt A w’ (A the correct e
[ b. 297 ﬁl—- (E) c,b,ead (B) b a_\ﬂli“luns gi“e“ bel
m-‘ﬂﬂ?ﬁﬁm d. .'2), 58 Question not att (D) d, d,cie,a oW
(A) ¢ T LELALI Arrange the Fopteg b,erc.a
i d b,a o o C d L ek ords given bel w
- L (v} - il
(E) aﬁc;!g:ﬂb (B) ac«c b, d’ ——] c. Family . b“fm thingécnd.
bE ) (D) b,c,ad Choose the most d Country ing sequence:
59 ¢ —~ (A ap/ . = L(';Cq'l N
Motification’ F5 2 (c; o option: Y
jis e T R T
mm (B) W.— ﬁm- 1on not altcmptcd([)] b‘ c, a, d
60 ® iy (D) I - 7 ;&Mﬂ‘sﬂwq A o
cm -_._.J" A) W ’ m L:_'\/'\
T FET e ‘L‘;f‘l‘ﬂ;
fawey ™ Hgﬁ't ) (C e
( =1 374 BI- P d (E; st , (B) Mﬁl‘{qq'rigiﬁ&;ﬂm
A) 929 ms{[ﬂﬁi bt (D) qf('Tzr BImr-.
(C} m m {B) \‘*‘:) 'ﬁn .W 1 ‘H;‘_,. e
‘() mi“*mﬁm (D) ,.,3'? - ﬁm@l G Y TEE 1 3T Y
udq Cacit (A) . m.‘:{ﬁn
: (B) Ia e () g =
e (D) e
9 FET
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61 TAMTFIJNDN Ay anf ..

T waem
B o

(B) 0 3N T fiyegay e

(C) T 433 3 55 w0 8 e & wr
(D) TR O ot ot g 3 sy e wr
(F) gafa 3
- ,. (.-}/
62 ALAT TRt wa P -
101, 123, 147, 173,72, 231, 263 D
201 8 (B) 197
(© 211 20} (D) 203
(E) sqafmas et
_ . o
63 ’-‘:ITl'ﬁ‘l‘ﬂ?ﬁ ﬁﬁmﬁwmmm‘ﬁﬁﬂﬁﬁ‘l“‘lm
WIE F HA - [
ﬁmwmnqg: (63, 8, 3) -):
(A) (M6,35,6) (B) (5%.24,3) .
c/cer'zzct, 15,4) (D) (59. 3.2)\_-)
(E) argafa uy ]

64 mﬁ@wﬁwﬁﬁzm & daiftra B dfrt vz & wmy
T Hela v 343 go, f o, frwedt § 9 ww g () &

mﬂﬁmmﬁmﬁ; w
Wy a1 MDD wr
ay W 32 “Re B b

21 23 A
TR ®) 13 o~
12

© 37 I

E) el

() srafa ~0
65 feu o fawedi F & Syge sy =1 9 TS Al

I IrregE Y qu W

wr
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‘ﬁ“ﬁqnz’rmﬁﬁmﬂwm;.
6l N
(A) e
3y o 30T frerar .L.
Vo et A3 0 FS T s s
™) Wﬁ&mﬂmum
(E) ﬂ‘{dfﬁfﬁ'ﬂ ]
62 Find the missing number in the following s.cm,;
(o1, 123, 147, 173, 2,231, 263
©) 211 . (D) 203
(E) Question not attempted 0
63 Choosc thesct of numbers from the four alicrrﬁ:;;tivc scts th;
is similar to the given set of numbers: L'
Given set of numbers: (63, 8, 3) J
=
(A) (1226, 35,6) (B) (574,24, 5)
(C) (224,15,4) (D) (10,3,2)
(E} Question not attempted L
64 The first term is related to the second term ina certain way
Establishing a similar relationship with the 'if-njrd term, sele
the alternative from the given options to rc;;i_a%gc the questio
mark (7): wr
N 41 L fri
. — e a, s )
W=32 " Rr ;:?/
81 14
© 1% m 2L
31 ™ 13
(E) Question not attempted o)
e
65 Sclect a suitable figure from the given :‘:ilm-n:nivcs th
would complete the following figure matri.x:v-.'
AN
O =] C.\‘--/
| N
I
™0
o~
3 ? uwy
U
5
(A) + ®) | X -
SE— Va
-
J
© X (D) ><
o
¢ (E) Question not attempted
10
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66  Scl i ) hat
cct a suitable fi - yes t
— ~9 would compl gure from the given alternat!
~ plete the following figure matrix:
- an i
L —e l__ o
Wy

1_
3
nall & I 5 it
e .

e RS I ’
?

!
N IW{ ) : {"i 5]
| - [ v
et Boy! e
/vﬂ/l i ( s :f’ l 3 i i—:
1 i D) “‘ﬁ“ . 'y A
(E) aiaws o e & {}Lii}l
67 uﬁmﬁﬁaﬁnmﬁ;aﬂ ..J (E) Questio
mﬁzﬁ I - ﬁ_&% 5 n not attempted .-J
y %waﬁ( 7at aray mﬁgﬁm?ﬂ i :Z:hc second half of the English alphabc‘ls js written in the
© O (B) L o e il b the 7 teer to the 111
© - Y i % by l"{ ctter from the right end? )
. 3  JURIF- O c) o ® >
,68 et Few T o 3 (D) X
'/LA.}- ! W@aa{gm%v@;\:# (E) Question not attempted : ~0
(© = o pil T <8 ‘mﬁ#mmwm%‘z""
(E)} 3“3‘-‘!&7’“‘.‘1 o LL:." (A) i E (B) rry
c9 Freafefd & @ *atft (C) &
rﬁﬂjngﬁa“ﬂﬁﬁmm%“?"mmwm ®) s i
{M 60 Freaferfie it & +arfera
B i firer
(E) s " ;T‘ﬂ%’ (B) FLSE1
70 mﬁﬁ e e Fagfiandes 3ree = £ EEI}: et v (D) wr.=
~B) ¥ *" frmafafaa o ——
(€) fawm= - (D) :msm 7 A) B LERL s 1 R
(B ey U EC; fram - mm ; Y
71 Froffae o & 959 T 9 HEE aquuﬁraﬁ‘lqﬁa? (E) 3‘1”‘“9'4’ @
(A) = _ «py e 71 Frefafa § 3 97 a1 7 S
(C) wax ©) B0 Y @) & s *'”“’“a"“"ﬂ%?
(E) argafa s N (€ = R
”Wﬁﬁmﬂz a1 A AR J (E) Segema gu S
wafed 2 (B) fofuet 711 Fefafgada m\“)
©) Hfa -"""" (D) faerard® (A) ERA R frifirey
(E) sqafaw e
] a (©) wfa (D) fremamis
? (Wﬁmﬁ%ﬁma W (E) IFgaRess
¥ &g s - (B) ¥ 'ﬂﬁzﬂﬁmx 73 Frfafiaa i 3« ffea W
© masasmaa (D) FiT AT R (A) St i mﬁn st
(B) aﬂaﬂaw !.\, ) @mqﬂﬁl (D) mm:?é;_ﬁ
(E) ¥qafeaw >
74 Fyak gum = T E mmﬂ#ﬁﬂﬁﬂﬁﬁm:ﬂgﬁ 74 FEE kal .
iy 4 mm?ﬁ“mmkﬁqﬁqﬂ Fs
(A) Hugy (B I T% :T.\ . ™
ﬁ?‘:g} T Y (D) L\ ﬁtc; s o stevaf
) At ud (E) ¥af@ws o
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75 If &0% of a number i add
ed o

qs WRTH AT % 60% =
ﬁ?ﬁﬂ?mt:-m/ ﬂﬁ’%mmwmm pumber itsell. Th
A) 180 - . itsell. N e umber j
gm S mw 2 [ iy
() algﬂ'ﬁifgﬂ- ' (D) 160 L': EE: Question not atte {n]) :ig m mti:ﬂ\e
L’ m e
76 2 il x W) 3 & 3 e 76 Ifany liquid ischa T 0~
a2 St & 5 ) At ATt B, i) e JMAAT 252 by 26%. W nged into gqy; = 84
ard widma i @, ﬁmﬁmmﬁ.ﬁ'ﬁrJ A o t}f . :c Ihc"‘;hc same miid'.d fo iu\l’ﬂ'
AY 20% - g ¢ . percentage decrease in gy, (P e %
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(A) Abscisic acid (B) Cytokinin
(C) Vasopressin (D) E,tl]ylcnc
(E) Question not attempted s

N at
88 An clectric device rated 300W operates 0 hourS"dﬂ}’-;:rhm

is the cost of the energy to operate it for 13 days at

per kWh? A
(A) T 27000 (B) T 108~
(C) 2270 (D) T 1080
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89 Ifa person is suffering from rickets, n_-'llg:h of the following

nutrient was lacking in his diet?

&

(A) Calciferol (B) Thf&r!{_im:
(C) Ascorbic acid (D) Riboflavin

(E) Question not attempted

90 Which of the following is not a type-of imaging scan in
medical science? (Choose the most appropriate option from
L

below) -
(A) ECG (B) C.¥'Scan
{C) SLV (D) X-ray
(E) Question not attempted i

-
91 In which script are most of the inscriptions of Ashoka
(e

written?

(A) Brahmi script (B) Tamil
{(C) Olchiki (D) Dﬂj:ll_ﬂgari
(E) Question not attempted o
o

92 The Gurjara Pratihara Dynasty was founded by:
(A) Nagabhatta | (B) Mihira Bhoja
(C) Krishna'l (D) Gopala
(E) Question not attempted 1?:_\,.,

93 Trusted noblés or officers in to @-“group of Fgpyn
(Turkan-i-Chahalgani) was formed by:-) my

(A) Twtmish (B) Malik Kafur
ﬁ (C) Nusrat Khan (D) Balban
&% (E} Question not attempted
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Choose the correct plural word from the list below.
(A) womans agf/mmlmm-in-law
(C) sheeps (D) childrens~

94
ﬁ (E) Question not attempted O

Fill in the blank with the most appropriatc \\- Ofd
9‘ L] m— n‘ a Punorour

we will not gifts of any Ium‘
organisational cthics.

accept (B) -accede 0O
(C) amass (D) —except O

(E) Queslion nol attempted k \:)

96 From the options given below, choose the word which is
most similar in meaning to the worgl_clmlcss .

V,;M"Amgnm (B) MNegligent’"
(C) Wigtlant (D) dndifferent”
(E) Question not attempted L,U

97 Trom the options given below, choose the WUrd which is
opposif@ in meaning to the word “lawful’. b &
(A) Authorised (B) Emant (7
(C) Encroach APy lllegal O
(E) Question not attempted N

98 Sclect the most suitable option from the given expression to

completc the following sGntcnck

It was well past midnight when the guests- ﬁnally decided
f‘\‘ P

('B} to end in'd fiasco.

(D) to land on his/her fect.ny

iy

‘\l-\-v}

(A) toface lhe music,

«(C) tocall it aday.

(E) Question not attempted
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Choosc the correct plural word f;

rom
(A) womans (B) m:‘ﬂm hﬁﬂ"ﬂ
() D) chijg,, M- lay
(E) Question not attempeq dreng
Fill in the blank with the Most g IQ =
we will no! _Bifls of g 2 Worg
organisational cthics, ura'“ ¥ king' “lpm
(A) accept (B) - h of oy,
(C) amass e
(E) Question not atiempted Pt -
From the options given below, e, )
most similar in meaning to the Word sy the word ich i
(A) Arrogant (B) Negl re_l,},_.T
(C) Vigilant genio)

(E) Question not attempted

From the options given below, ch,
opposite in meaning to the worg
(A) Authoriscd

(C) Encroach

(E) Qucstion not attcmpted

‘llw[ Pomr
(B) Erran
(D) llega)

'.?‘.f

0O

Select the most suitable option from
complete the following sentence.

It was well past midnight when the guests: l'ma]ly decideq
1

the given eXpressiony,

(A) to face lhc music.
(C) 1wcallitaday.
(E) Question not attempted

(B) toend in a Jﬁascg‘
(D) toland Tihiyhn feet

-

‘et @fe FEf-freda g,
(A) T3t (B) m,a?{;m
(C) HATH+3cm (D) 311?1?1-3‘?;[1‘?
(B) sigafawm "N
watw wes # e sawt ..

B B B) T~
(C) #mw (D) ot T .
(B) it ux

Ly
A shopkeeper bought 50kg of sugar at the tate of T 40 per
kg. He sold 40% of the sugar at the rate of T 60 per kg A
what price per kg should he scll the rc'mammg sugar 0

make 20% overall profit? _
(A) Z40 (B) T45
(C) T30 (D) T42

(E) Question not attempted

Which of the following is not a cnmponent of Centrd
Processing Unit (CPU)? o

(A) Visual Display Unit (VDU) oL,

(B) Arithmetic Logic Unit (ALU) U ?

(C) Memory Registers i
(D) Control Unit (CU) £
(E) Question not attempted

What does USB stand for in computer { e
(A) Universal Serial Bus  (B) Umvtrs:lsmﬂ "
(C) Unilateral Series Base (D) Umque Boo

(E) Question not attempted [ Contd-

20X60 4 Bor K = Sy

loed (Ga)
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rahmaputra river originates .
-ft-::fm:-:ng glacicrs? ‘ 'm which of the
(A) Ynmunmn(ilncwr‘ ) 30
(") Chemayungdung (_-la'cltr o
(©) Mapchﬂcfumg? Glacier i
(D) Qangotri Glacier i
(E) Question not attempted

o~
-~

-
s

et

wWhere was the Rising Rajasthan Globaj In\Ttiuﬂenl Summj;
2024 ﬂigﬂﬂi?ﬂ'd? L !
(A) Jaisalmer (B) Jodhpur™"
(C) Udaipur (D) Jaipur ~)

(E) Question not attempted

Which day has been declared *Pravasi Rajasthani Divas’ b
the Rajasthan government? ve)

(A) Deccember 10

(C) Dccember 14

(E) Question not attempted

(B) December 12
(D) Dcmnbgt_‘j'

wr
Which day is obscrved as “National Educatjor Day™
(A) November 14 (B) Nﬁ?ﬁmb;?_lo

(C) Wovember 11 (D) November 13

(E) Question not attempted O

Aman Schruwat who won the bronze \nﬁ‘tj:da[ at Paris
Olympics-2024 is associated with which sport?

(A) Wrestling (B) Shooting

(C) Badminton (D) Boxing -

(E) Question not attempted o~

What is the theme of “Grameen Bharat Ma’x‘r;o"t_fsav — 20257

(Choose the most appropriate option from below)

(A) Innovation and Technology for Rural Livelihoods

(B) Building a Resilient Rural India for-a Viksit Bhara
2047 X 35

(C) Empowering rural women for a bright future

(D) Cultural Heritage and Economic Growth

(E)

Question not attempted
Who among the following is known as the father of modem
Indian Renaissance? = :
(A) William Bentick (B) Mahatma Gandhi
(C) Raja Ram Mohan Roy (D) Swami Dayanand
(E) Question not attempted (LY

Who succeeded Aurangzeb in 1707?
(A) Mohammad Muazzam (B) BahadurShah Il
(C) Nasiri Khan (D) Bahadur Shah |
(E} Question not attempted

Rangpur, Lothal, Prabhas Patan and Dholavirs
archaeological sites are found in which state?,

(A) Madhya Pradesh (B) Gujarat

(C) Uttar Pradesh (D) Punjab “

(E) Question not attempted (

What name has been given to the tools of Mesolithic Age”
(A) Trapezes (B) Microliths

(C) Handaxes (D) Lunates

(E) Question not attempted

LA/

A

Who coined the term *Neolithic*? N
(A) Kushanas (B) John Neocard
(C) John Lubbock (D) Huns

(E) Question not attempted
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125 ‘India that is Bharat shall be a Union of States™ ‘ﬁ"-'on of

1
“Union of States™ was adopted from tht constits
which country?

(A) Switzerland
(C) France
(E) Question not attempted

(B) u.'sI

(D) Cansda
w

{_.__‘ -

(B) State List
(D) Unmion List

126 Panchayati Raj is included in the:-
{A) Concurrent List
(C) Residuary Power

(E) Question not attempted

127 Find the missing number in the following figure: o
OO
V] (1)
(17
IO
P
(A) 37 ® 32
© 34 ) 2977
\J

(E) Question not attempted

128 Find the missing number in the following figure:
! 1 X
96 | 130 {162 | o~
[ ( i W
i ! wr
| 4 5 6 | C's
I ,.;;___.______;'= o
s | | 4 ’, o

] N
: 29 35 ? 1{
(A) 28 ®) 270"
€ n (D 317
(E) Qucsuon not attempted v_, i

129 Select the m|ssmg number from the gurcn responses:

(a) 16 (B) 130
1 Dy 9 L
(E) Qucsuon not attempted (L9

e

-

130 One third ochkha s marks in Hindi ntccds one half of ey
marks in Science by 20. If she got 1{)0 marks in the twa
subjects together, how many marks d\d shc getin Sej ence?
(A) 24 (B) 16 s

g (C) 18 (D) 20
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Fra gy o @t e s 87
(A) 4562 (B) 40%
39 W (D) 362 30

(E) dgaRaud o
136 3w =ryTer ¥ =manfr $ Bafs s ot

(A) T (B) wemidr (1)

(C) A R e

(E) raiea s %
137 nIA (o i forr ¥ vt 2

(A) @z s c,m}"ara-néa‘!\)

(C) = meresht (D) Sftor o

(E) sguf@un 30

138 v 1930, ﬁm%ﬁmmﬁﬂﬁu% ﬁaﬁmﬁm

&
(A) snErarinr

W“ﬁill

(C) wwmimstERr- (D) m-aif;aq@a:;
(E) sryafwuy -
139 fashtfera fram aridiem merema 8§ w0 mbﬁam
(A) 1890 : BT 1897 i
(C) 1892 (D) 1895
+ (B) Sqaf@maw
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5 F15a3 i
(A) 1 (B) o

© 3 (D) 3
(E) Question not attempted

1M

i

132 During @ workshop, a teacher claimeq y

which he travelled by taxi and 7 o for ¢
yravelled on his OWR car. Ifhe chaimeq g g5 o

0kms, then how many kms did he traye) by “:‘,Inun
(B) 25
(D) 3%

In for each y,
*chkm which b,

(A) 40
(C) 35
(E) Qucslmn not attempted

=
At

The numerical value of the arca of 5 circle by, four
that of the numerical value of jig ¢

133

LN timicy

Wmfcrtncc 1
circumference of that circle is:- (n 2\, b
{B) 3‘5" |.|1"[|[5

(D) 88 unips *
\-:-\/

(A) 132 units

(C) 176 units
(E) Question not attempted

-

134 A rectangular ground is marked by Paln::n; du ol
sides. 1f the length of the unpainted side is | 3m and il
of the lengths of the painted sides is ﬂmm the s g
the ground is:-

(A) 286m>

(C) 176m

(E) Question not attempted

(B) 280m>

(D) 741 20T

m- L

wr
The water level in a rectangular tank w‘;m_;f,:._sc of 40m »
30m is 6.5m high. In how much time can the tank be emptied
by a pipe having square cross section of side”20cm, if the
water runs through the pipe at the rate of Skm per hour?
(A) 45 hours (B) 40hours
(C) 39 hours {D) 36hours
(E) Question not attempted ~0

135

136 The Judge of the High Court is appointed by
(A) Home Minister (B) Chief Mihister
(C) Prime Minister (D) The Presidént

(E) Question not attempted 5

—

137 In Rajasthan® L:mguuya songs arc rcl:m-d '.o which God
Goddess?

(A) Khatushyam ji

(C) Shri Mahaveer ji

(E} Question not attempted

March 1930, which is well-known in thefrr:cdﬂm moveme
of India, is associated with:- L

(A) Partition of Bengal L

(B) Dandi March

(C) Non-Cooperation Movement
(D) Quit India Movement

(E) Question not attempted

The Bijolia Kisan Movement began in
(A) 1890

(C) 1892

(E) Question not attempted

@E’L

(B) Kaila Dm.
(D) Jeen Mata

-~

138

L 7
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18
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